
Restricted A.Lite 
Page JJ1 

MAIN PLANE 
ATTACHMENT OF LEADING EDGE OF TANK TO PORT WING 

: Cl. of 

Ref. No. Part No. Description se Matl. Spec. ee No. 
123456 LM. 

_ ATTACHMENT OF LEADING EDGE TANK TO PORT - = - 14/1 

WING (E.F6.00.21) 

Spares for:— 

3410 | E.B2.20.6639 ’, BOLT, special, 7/16" BSF - 1 S97 Cc 14/2 
12778 E.B2.20.7983 . BOLT, special, 2 BA shouldered 1 $97 Cc 14/3 

7216 | £.B2.20.8399 . BOLT, special, 5/16’ BSF : 1 S95 or Cc 14/4 
. S96 

23574 | EEAS.222/2E . BOLT, special, 1/4’ BSF hex. head 1 HTS Cc 14/5 
12780 EEAS.251/35/48E . BOLT, special, 1/4’ BSF 120° c’sk head 51 $97 ( 14/6 

12781 EEAS.251/45/48E | . BOLT, special 1/4 BSF 120° c’sk head 20 $97 Cc 14/7 

12782 | EEAS.251/35/49G | . BOLT, special, 5/16’’ BSF 120° c’sk head 21 $97 c 14/8 
12783 | EEAS.251/50/49G | . BOLT, special, 5/16'’ BSF 120° c’sk head 2 $97 ( 14/9 

28D/1212859 | AS.1248/4G - - BOLT, 5/16” BSF mushroom head, used when flight 2 - Cc 14/10 

refuelling probe is not fitted 

28D/ A25/1-1/2E . BOLT, 1/4” BSF, hex. head 1 - Cc 14/11 
28D/1011030 | A25/2E . BOLT, 1/4” BSF, hex. head 7 - c 14/12 

28D/ A25/3-1/2E . BOLT, 1/4” BSF, hex. head 1 - Cc 14/13 
28D/ A25/3-1/2G . BOLT, 5/16” BSF hex. head 1 - Cc 14/14 

: EEAS.164/24/25 . HOSE, connection, 1-1/2” i/d x 1-7/8" o/d x 2-1/2” 1 | DTD625 | LM | 14/15 

long (Make from 32C/446) Type 1 

Attachments:— 

28E/9129092 AGS.605/2 . Clip, hose . 2 - c 14/16 
13805 | DUNLOP . HOSE, connection, 3/4” bore x 2’’.5 long 1 Ni027 Cc 14/17 

Attachments:— 

28E/9429463 | AGS.605/0 . Clip, hose 2 - Cc 14/18 
28M/9480017 | AGS.2001/E/1 . NUT, 1/4” BSF, stiff 11 - Cc 14/19 

28M/10293 | AGS.2001/L/1 . NUT, stiff, 7/16" BSF 1 - Cc 14/20 
23575 | E.F3.20.2739 . PLATE, nut 1 $1 C 14/21 
7217 | E.B2.20.8093 . SHIM, laminated, rib 7 2 LA3 Cc 14/22 
7218 | E.B2.20.8095 . SHIM, laminated, rib 9 2 LA3 Cc 14/23 

10486 | E.B2.20.9413 . SHIM, laminated, rib 11 2 LA3 Cc 14/24 

E.B3.20.1565 . STRIP, nut, assembly 2 - - 14/33 

31696 | £.B3.20.1569 . STRIP, nut, assembly 1 - Cc 14/34 
E.B2.20.4971 . STRIP, nut assembly 1 - - 
E.B2.20.4973 . STRIP, nut, assembly 1 ~ - 14/35 

1485475 | E.B2.20.4977 . STRIP, nut, assembly 1 - el 14/36 

1484102 | E£.B2.20.4981 . STRIP, nut, assembly 1 - c 14/37 

\ 

BD Restricted 



Restricted 

Page JJ2 
MAIN PLANE 

ATTACHMENT OF LEADING EDGE OF TANK TO PORT WING 

Cl. of 

Ref. No. Part No. Description Mer Matl. Spec. 7 ft 

123456 L.M. 

12774 | E.B3.20.1581 . STRIP, packing lower inboard 1 L16 or Cc 14/25 

L59 

Attachments:— 

2858/8544 | 4100/4/ 3/16” . Screw, self tapping 9 - Cc 14/26 

12775 | £.B3.20.1583 . STRIP, packing, lower outboard 1 L16 or Cc 14/27 

L59 

Attachments:— 

28S/8544 | 4100/4 3/16" . Screw, self-tapping 9 - Cc 14/28 

12776 | E.B3.20.1587 . STRIP, packing, top inboard 1 L16 or - 14/29 

L59 

Attachments :— 

28S/8544 | 4100/4 3/16” . Screw, self-tapping 9 - Cc 14/30 

12777 | E.B3.20.1589 . STRIP, packing, top outboard 1 L16 or Cc 14/31 

L59 

Attachments:— 

28S/8544 | 4100/4 3/16” . Screw, self-tapping 10 - Cc 14/32 

12779 | E.B3.20.1827 . WASHER, rubber, used when flight refuelling probe is 2 | DTD560 Cc 14/38 

not fitted 

28W/9419405 | SP15/E . WASHER, 1/4” BSF plain 7 - Cc 14/39 

28W/9419478 | SP15/L . WASHER, 7/16” BSF plain 1 - Cc 14/40 

Restricted BD 


